1. What does one study in Palacontology?
(A) Plant and Animal fossils
(B) Volcanoes
(C) Atmosphere
(D) Rocks

2. Newton’s first law of motion is also known

as
(A) constancy principle
(B) principle of relativity
(C) causality principle
(D) principle of inertia
3. The Jallianwala Bagh Massacre took place
on

(A) 28th July, 1914
(B) 24th July, 1935
(C) 16th October, 1905
(D) 13th April, 1919

4. President of India is elected by
(A) Rajya Sabha

(B) Members of Parliament and members
of State Legislative Assemblies

(C) Lok Sabha
(D) Parliament Members

S. What was the real name of Birbal ?
(A) Mahesh Das
(B) Shyam Das
(C) Bhagwan Das
(D) Ram Das

(3)
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1. “iferoEfs R @m Rams sgme e
AA) Tfew 933 21 vy
(B) wucamfafa
(C) Iz
(D) P

2. TG eew oifeaf sififoe zrne
(A) Rz e
(B) WsifFrror Jeae
(C) e NS
D) Tge YIS

3. SIfFERSIERITT TN ThRe—
(A) 28 July, 1914
(B) 24 July, 1935
(C) 16 October, 1905
AD) 13 April, 1919

4. ©iFred AT Fifce =—
(A) FEpTel =il

_(B) FMA M3 W3R ST SiRH AfREma
Aepsie wit --

(C) Tl 7l
(D) AT FWg =il

5. IR W A D e 2
. (A) T %

(B) *UI%

(C) @5 v
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6. Diamond is hard because
(A) itis made up of carbon atoms.

(B) all the four valence electrons are

bonded to each carbon atom by
covalent bonds.

(C) it cannot be burnt.
(D) itis a giant molecule.

7. The maximum durétion of ‘Zero-Hour’ in
the Lok Sabha is

(A) 60 minutes

(B) Indefinite period
(C) 30 minutes

(D) 2 hours

8. India gets the largest share of its G.D.P.
from which of the following sectors ?

(A) Construction sector
(B) Service sector

(C) Agriculture sector
(D) Manufacturing sector

9. The Law of Natural Selection is associated
with
(A) Darwin
(B) Mendel
(C) Dalton
(D) J. B. S. Halden

10. Which of the following is needed by a
person suffering from diabetes 2

(A) Penicillin

(B) Streptomycin

(C) Insulin

(D) Steroids ‘
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6. 33 G 26T A
(A) @6 LT oI FEE 4ifFs |
_(B) 18 BIATG T TG (RIS IS
B 2fSlG Fda ofga A = |
(C) @fb coAreIT T 1|
(D) «ft @3> orey =i |

7. TS ‘Ra-eneura’-aa A8 Aam<le
Eg|

(A) 60 fifaG
(B) wfafwesie
" (C) 30 ff"G
(D) 2 9%t

8. fiafe Reitlm @l (@ sige o7
f&r. 1.5t a7 sifde wient o7re w2

(A) eftorsa
(B) CRITEg
-(C) e
(D) SesmarEg

9. el forTa wiiew T e srniffe — vy
_(A) TRTRH
(B) Gt
(C) ©ision
(D) & [ 991 Fyires

10. FfERe @Wb TIERbE wsiew e

TG 2 Pu:
(A) iR
(B) CBATINRRFH
AC) TP
(D) GHITS
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11. The chief constituent of ‘Gobar’ gas is
(A) Carbon dioxide
(B) Methane
(C) Ethane
(D) Hydrogen

12. The book “Letters from a Father to
Daughter” was written by

(A) Mahatma Gandhi
(B) B. V. Patel

(C) Jawaharlal Nehru
(D) S. Radhakrishnan

13. Africa is separated from Europe by
(A) Mediterranean Sea
(B) Red Sea
(C) Atlantic Ocean
(D) Persian Gulf

14. Which country has won the 2018 FIFA
World Cup held in Russia?

(A) Croatia
(B) Germany
(C) Brazil
(D) France

IS. Which of the following is India’s largest
blic Sector Commercial Bank at present?

(A) IDBI Bank
(B) State Bank of India
(C) ICICI Bank
(D) Indian Bank
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11. ‘¢Sl ST 2l SAMI Za1
(A) FIE TGRSR
AB) fas
(C) Za
(D) QErgE

12. “Letters from a Father to Daughter” BEUY
feraferam
(A) =l Sil
(B) . fS. ijicGai
(C) TSZIEAeT (I
(D) @9, FI4IFRE

13. I BRI (A AT TR AL TG
AA) RGN
(B) ifz Ao
(C) == =P
(D) AT S

14. RIS SRS 2018 Rl Rt @i ot
feerg 2

(A) it

~(B) @il
(C) aifEa
(D) T

15. Aba @ I6UM e J7ew ARG
G139 A i

(A) =2, f&. & o2, e
(B) ST GH5 ied
(C) =i, f31. Wiz, fo1. =13, ayess

(D) 3 iz
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16. Father is four times the age of his daughter.
Ifafter 5 years, he would be three times of daughter’s

age, then further after 5 years, how many times he
would be of his daughter’s age?
(A) 2times v~ ¢
; X &
(B) 3 times ? I
: g A
(©) 1.5 times %\_, w” A0
. ¢X //K
(D) 2.5 times L 5%'
‘o.\vlo

17. A t.wo-digit number is such that the product
of the digits is 8. When 18 is added to the number,
then the digits are reversed. The number is

(A) 24 »
(B) 81 A ot
(C) 18 N X
(D) 32 ot

18. Find the value of 0.002 x 0.5 = ? ,
(A) 0.001 (HO'/\% :

0o
(B) 0.1 0:05%
(C) 0.0001 M \
A

D) 0.01 0
(D) \ u@)\

19. The respective ratio between 52% of X and
30% of Y is 12 : 5. If X is 50 more than Y, what

is the value of 2X + Y’ ?
(A) 260
(B) 490
(C) 230
(D) 390

20. Amitis 6 yrs. older than his wife Soma. The
present age of their son, Bunny is 1/3rd of Sqma’s
present age. If the sum of present age, of Amit and
Bunny is 54 yrs., what was Soma’s age

Bunny was born ?.y v
(A) 28 @
(B) 36
(© 24 N, Y
(D) 32 W V""‘% »3
AL ”7‘\ #\
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16. IRIT ITT (@S 5IFee | I 5 = AT ©f7
T (NEAF INETA fomeset T, O S48 5 I=F 243,
o o e <ae™ Foud T2

(A) 2@
(B) 3 @
(C) 1.5

(1 2.5

17. 93 w2 SERME MYF TFa@H QT § |
I YA A 18 @Iot I 7W, O TR
TFREE N AfaET @ | Wit e ¢

(A) 24
(B) 81
(©) 18
(D) 32

18. = fefa T
0.002 % 0.5=?
T 0.001
(B) 0.1
(C) 0.0001
(D) 0.01

lel
pa

19. X-9952% 9R Y-99 30% G SGo41S 12: 5 |
/M X973 Y-93 (T 50 M =, OiRe 2X + Y’
-9 ¥ 9 2

(A) 260
(B) 490
(C) 230
(D) 390

‘A,
of w
com

20. ¥ S & GINR GW 6 IN=T IT | ©TF
GG (LT TR <A A T T 1394 | 25
it wifire @ e TG TER T 54 WA R, s 12

O@ AT SOAR AN GG T T e 2 he ty
(A) 28 ump
(B) 36
(C) 24
(D) 32

Scanned by CamScanner



21. The sum of 3 numbers is 136. If the ratios
petween first and second be 2:3 and that between
second and third is 5:3,then the second number is

(A) 48

(B) 60 N 0
(©) 40 /(f;\:;/"\‘g b
(D) 52 Oy*%

22. 15 men take 21 days of 8 hrs. each to do a
piece of work. How many days of 6 hrs.each would
21 women take, if 3 women do as much work as

2men ? M 5
W o e
(B) 30 -+ g
©) 18
(D) 25 Y

23. How many seconds a train 100 meters in
length running at the rate of 36 km/hr will take to
pass a certain telegraph post ?

. A0
(A) 12 seconds -
(B) 18 seconds 7‘* 0
(C) 10 seconds %

(D) 15 seconds

24. ‘A’ cancomplete apiece of workin 12 days.
‘A’ and ‘B’ together can complete the same piece
of work in 8 days. How many days can ‘B’ alone
complete the same piece of work ?

(A) 18 days =294
(B) 28 days %/

(C) 15 days /0

(D) 24 days

- 25. The sum of two digits of a two digit number
15 12 and the difference between the two digits of

the two digit number is 6. What is the two digit
Number 9 '

(A) 75
(B) 93
©) 60
D) 84
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21. fofs sy wf® 1361 T e @ &ew
QIR AT 2:3 @k T @ GO IR AT
5:3 =, od fEow A 2
(A), 48
) 60
(C) 40
(D) 52 °

22, 89 I PG 156 o4 21 e
Ao G P F=AT FACO | 6 TD! PR IS A
2] & NREEE (i3 FIEB o1 FAC TO W I
oTIoIca, T 3 Tt el 2 T ST A IS P

(A) 20
(B) 30
(€) 18
(D) 25

23, B 36 REAMRGE @t 100 fvw A @3l
G @3l T ¢GiFSE F© EIRte SoT™
FAW?

A) 12 CFS
(B) 18 TS

MCY 10 TS

(D) 15 FT®

24. ‘A’ @3 1T 12 T 900 M@ ‘A’ G
‘B’ GO IR IACE OItrd IY =71t 8 Ty 1 3

g3 ‘B’ JIGH FACS BT OIE O TOMA AN
BIRIGR

(A) 18 faw
(B) 28 fae
(C) 15T=

) 24w

25. 2 SERHG G WU wEerEE Y 12
93 AL 61?3%%&%3‘{% Fo?
(A) 7
“(B) 93
(C) 60
(D) 84
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26. Five bells begin to toll together at intervals

of 9 seconds, 6 seconds, 4 seconds, 10 seconds and
8 seconds respectively. Starting logf:ther, how
many times will the bells toll together in a span of
1 hour?

(A) 8
(B) 12
©) 5
(D) 10

27. Sachin Tendulkar has a certain average for
11 innings. In the 12th innings he scores 120 runs

“and there by increases his average by 5 runs, his
new average is

(A) 62
(B) 66
(C) 60 ' \qpx:,/‘w”
(D) 65

28. The wheel of a motor car makes 1000
revolutions in moving 440 m. The diameter (in

meter) of the wheel is @P" A0 4
(A) 0.34 = /é}éﬁk
(B) 0.14 % S{,i}d/
(C) 0.44 x 2 (
=B
(D) 0.24 = %‘

29. Find the odd one out
(A) Carl Lewis
(B) Usain Bolt
(C) Ben Johnson
(D) Emil Jacktopek -

%
30. 7:49::17:? ’(f‘@
g a3 b o
(B) 324
(C) 119
(D) 290
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e X%
nN® \\Vw XU A 0
\ ,4 .?\';’Px

)

26. S5 9B WTFH 9 OIS, 6 O
4 TG, 10 G 3% 8 (LT G I IR
o @ | G TBE I O FOIW G

Jrerd?
(A) 8
(B) 12
© 5

27710

27. *oF (owEEa 11 o™ 93 e
| 1299 3 fof 120 T S0 @R 2
©IF 9IG 5 A I CATACR, ©IF T C FO 2

(A) 62
(B) 66
(C) 60

BT 65

28. (NG SNfSH 51T 440 m B&TCS 1000 A1 g
| IS 1 25 (i)
(A) 0.34

B 014

(©) 0.44
(D) 0.24

29. fafeiie amelem T oo @emf -
(A) <t 72
" (B) W @r%
(C) @ &=
(D) @fiiE SEIT

30. 7:49::17:?
(A) 288
(B) 324
(©) 119
(D) 290

)
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31. Which of the following words will appear
fourth in the dictionary ?

(A) Sanatorium
(B) Sanction
(C) Sanctity
(D) Sanskrit

32. Gopal said, pointing to Govind ‘His father

is my father’s only son’. How is Gopal related to
Govind ?

(A) Grandson m‘,ﬁ/ &'3?/

(B) Son E o BT
(C) Grandfather @

(D) Father

33. Molly travelled from point A to point B
which is 5 feet. He then travelled 6 feet to his right
and then turned to left and went 4 feet. Finally, he
again went 6 feet to his left. How far is he from the
point B now ?

(A) 6 feet

(B) 4 feet A *

(C) 10 feet A
(D) 5 feet

34. Vinod introduces Vishal as the son of the
only brother of his father's wife. How is Vinod

related to Vishal ? e
(A) Son  %2° n\.@
(B) Brother - ‘/4\
(C) Uncle o8
(D) Cousin

] 35. Sitais older to Swapna. Lavanya is older to
Wapna but younger than Sita. Varna is younger

tHhaq both Hari and Swapna. Swapna is older to
4. Who is the youngest 9

(A) Vama . i

B) Hari IS

(C) Sita

(D) Lavanya Sa 9%8:‘1/*
=l \L
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31. Frsffre *mefr S @b S vgdl
T YA ZA?
(A) Sanatorium
(B) Sanction
(C) Sanctity

L(D)/ Sanskrit

32, (Sl (o (IR Tee ‘@ R =
I AR GG A | (oMl e e
TS ?

(A) Ife

(B) =&

(©) sl
ST

33. o1 A #ATTG (A TS B (9 (1T I AR
5 76 | ©rReE fof o7 Tt 6 T (olteiw R
o943 A e 0 4 6 (I | S fofiy wie

A1 T 6 6 oIt | i @2 B £ (A0 9
RleTh

(A) 635
(B) 4%
(C) 1075
(D) 5%
34. Revm o Prom & e oitwE @

i Rt «ifsn sftw om Rem-ag s
fiiteTa & sni e

(A) @

(®B) SR’

(©) St
\AD) 4ogrel B

35. FAT 5 Aol WA G| FARY A G
T T 5w Horm ow@ @Bl o, 2f 9w o
TECR (BT (=I5, 320 23 (5T IC | 5_GE @G @2

ol %o
(B) 2[4
(C) et
(D) #Rey
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36. IfMEKLFiscodedas91782and LLLJ Kas
88867, then how can IGHED be coded ?

(A) 64521 Qée‘a J
(B) 53410 {5 Qs

(C) 97854 tA‘ y

(D) 75632 5V

37. Select the missing number from the given

responses: II

(A) 512
(B) 1000
(C) 343
(D) 729 | 9,?7/7‘?0/

38. What should come in the place of question
mark (?) in the following number series ?

2, 10, 30, 2, 130, 222
(A) 95 q”

B)42 & 2 :
©) 125 % % %
(D) 68 k/\» : Y

9%

39. How many such ‘R’s are there in the
following letter series which are immediately
preceded by ‘M’ and immediately followed by
‘K*?

NPKRMDCNMRKPQKRNMR
KRMKPRM

(A) Four

(B) Five

(C) Three

(D) Two

40. If 84 x 13 = 8 and 37 x 13 = 6 then

56 x22 =
A7 @A 9(:
®9 X v
©) 6
(D) 8
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36. aff MEKLF (¢ 28 91782 @3k LLLIK
@IS =z 88867, ©izre IGHED (PG 5 242
(A) 64521
BY 53410
(C) 97854
(D) 75632

37. ove afeferatafs (e sz Taaf s

| ab

512
(B) 1000
(C) 343
(D) 729

38. RafReasa s a‘ﬁfﬁ‘@(‘?)«ﬂa@mm
SR 2

2, 10, 30, 2, 130, 222
(A) 95
®B) 42
©) 125
(D) 68

39. fifeie @ Fifte am sowsk R
ITE T 3 st M’ 9=k B =1t ‘K w2

NPKRMDCNMRKPQKRNMR
KRMKPRM ;

(A) o=
(B) =I5
(©) f&=
BT 1R

MR

40. T 84 x 13 = 8 W32 37 x 13 = 6, O
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41. Which one of the following units is not a
unit of electrical measurement ?

(A) Coulomb
(B) Siemen
(C) Angstrom
(D) Ohm

42. Theheadquarters of the International Labour
Organization is at

(A) New York

(B) Washington D.C.
(C) Geneva

(D) Paris

43. Whereisthe Indian Forest Research Institute

located ?
(A) Dehradun
(B) Shimla
(C) Bhopal
(D) Lucknow

44, Cow milk is a rich source of
(A) Vitamin-B
(B) Vitamin-D
(C) Vitamin-A
(D) Vitamin-C

Wi?hS. The name Kunjarani Devi is associated
(A) Boxing

(B) Weight Lifting
(C) Archery
(D) Swimming

(11)
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41. R gseuf= I @Wt ofee A
G T ? ‘

(A) T3
(B) P
AC) SORG
(D) e

42. GO =% FLZ T WFod SAZS
(A) FozF
(B) eqif¥GH fE. F.
ey et
(D) =i

43. SO TR ARIA (FF (A TS 2
4A) G
(B) P
(C) cetoE
(D) CH

44. o9 74 e (in SO a2
(A) fobifm-R
(B) fooifm-f&
(C) fobifim-g
(D) feBifim-f

45. g ¢ T it —
(A) B
(B) ©F Tralew
(C) Sr=&
(D) e
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46. The Income Tax in India is
(A) Indirect and Progressive
(B) Indirect and Proportional
(C) Direct and Proportional
(D) Direct and Progressive

47. India’s coastline measures
(A) 5516.6 Kms
(B) 3316.6 Kms
(C) 7516.6 Kms
(D) 4516.6 Kms

48. Whichone of the following is an example of
nitrogen fixing bacteria?

(A) Eukaryotic
(B) Rhizobium
(C) Azotobacter
(D) Procaryotic

49. The pigment that helps in photosynthesis
(A) Chromatophore
(B) Leucoplasts
(C) Chloroplasts
(D) Chromatoplasts

50. The World’s driest desert is
(A) Gobi
(B) Thar
(C) Atacama
(D) Sahara

Recruitmentindia.in

(12)

T AAE(EACIESEEG]
(A) TLETF GR AsifSAe
(B) ST @R Ao
(C) 2o @ ST
(D) & @R esifemie

47. ©Rred GAFRLR O 29
(A) 5516.6 RF=fGE
(B) 3316.6 eeenfsio
~(C) 7516.6 RFe=nfoe
(D) 4516.6 RF=nfaor

48. fesie A FiEGeew R IeGRE:
THIZA ?

(A) T/HIR@HS
(B) wizrenfamm

(C) UGBy
(D) cArfEDe

49. fete @ TN sy i sy
IR

(A) PG

(B) FSwmars
AC) @S

(D) SIS

50. =337 wwew wEH =
(A) el
(B) 27
(C) =G
(D) ==t
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51. Whichofthe following is a vector quantity?
(A) Force
(B) Mass
(C) Density
(D) Inertia

52. Who was the Peshwa when the Third Battle
of Panipat was fought in 1761 ?

(A) Bajirao II

(B) Madhava Rao
(C) Bajirao I '
(D) Balaji Bajirao

53. Jaldapara Sanctuary is located in
(A) Madhya Pradesh
(B) West Bengal
(C) Assam
(D) Tamilnadu

54. Exposuretosunlighthelpsapersonimprove
his health because

(A) resistance power increases.

(B) the ultraviolate rays convert skin oil
into vitamin- D.

(C) the Infra-red light kills bacteria in the
body. »

(D) the pigment cells in the skin get
stimulated and produce a healthy tan.

55. In which district of West Bengal was Raja
Rammohan Roy born?

(A) Hooghly
(B) Nadia

(C) Burdwan
(D) Murshidabad

(13)
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51. fEe @b oFa A e
(A) &
(B) 4
(C) w9
(D) ©wel

52. 17617 AT TOIH I0ad oA (AT
@ forem e
(A) TaoH aifEane
(B) WeAe < -
(C) 2w ifer=ne
(D) I AifErans

53. TEisiie! SRRl SREe—
(A) ST
AB) #iff5sa%
(C) TN
(D) IfiEIg

54. R SEN @I I ©F e Tafe
FACO AT I, A9

(A) el et 3 oI

(B) wfera 3 g (o fohiim-fo-ce
T I |

(C) T TI-FT WG =AE TIFEEA TN
A

(D) 39 3T el Twifee @ 9
G0 FYII OJiF Cofd I |

55, ST (@IF- (TN e AN A
TSR I 2

_w Loal
(B) Az
(C) If=

(D)
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56. Which of the following is not a member of
South Asian Association of Regional Cooperation

(SAARC)? o
(A) Myanmar oY
(B) Pakistan ‘l\{l’
(C) Bhutan B
(D) Nepal

57. Six bells commence tolling together and toll
at 1nte1.'vals of 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do
they toll together ? il

(A) 10
(B) 16
© 9

(D) 15

58. The difference between the areas of a
rectangle and square is 35 cm?. If the rectangle’s
length and breadth are 50% more and 10% less
respectively than the side of the square, whatis the
area of the rectangle? (in cm?) HOT g

(A) 105 ol ® oo
(B) 145 » ok

‘ar
(C) 100 ,\}93@ 2%
D) 135 G %‘

59. A man goes uphill at an average speed of
24 kmph. and comes down at an average speed of
30 kmph., the distance travelled in both the cases
being the same. The average speed for the entire

5 . \O
journey 1s
(A) 30 kmph. ‘?;{\W%
A

(B) 30.8 kmph.
(C) 26.6 kmph. %? 0

(D) 32.6 kmph.
60. The average weight of a group of 75 girls
was calculated as 47 kg. It was later discovered that

i i d as
the weight of one of the girls was rea
45 kg, whereas her actual was 25 kg. What is the

actual average weight of the group of 75 girls ?
(rounded off to two digits after decimal)

(A) 46.73 kg. ()(g 2

(B) 45.96 kg

(© 4126kg. /g,?ﬁ v
(D) 46.64kg. - W
\DA&A %(ZA’/

Recruitmentindia.in

56. e @A 7 G Al T
AL (AF)'T AP T2
AT SR
(B) iifeww
(C) 2o

(D) @re

57. =AM BT G AN G| SF P GIR IFH
2,4,6,8, 1093R 12 GIFS I Jiter | 30 A
Ol 9 AN FOJIF eI ?

(A) 10
B 16
© 9
(D) 15

58. @b STOrFY 8 GHB INCHTT CRATE
A 7 35 cm? | I SerTaty o W3R 2
Fsfeafba e Qe TAFE 50% RS 10% T
R, OIZ(E WRCCFAL CFae 9 ¢ (in cm?)

(A) 105
(B) 145
(C) 100
(D) 135

59. 9ITH AT TS 24 [FHI/9%1 AfSre Boigm
813 % 30 /9% ifers Mo e, Tow ovoam |

7Y R ToeT | e Tpatenees o1 siferaet =@ is
(A) 30 =f/a% st

(B) 30.8 ffsi/=%t

6.6 f&f5i/2%1

(D) 32.6 f&f/<%

60. 36 e 75 T e o1% eew 47 &% | #ita
T I @ @3 @@ e @1 7 45 @, 17

oo G 25 (% 7T 75 B e o g eem ‘X
o ? (WIRTEa 9 3 9% T M) of
(A) 46.73 @&
(B) 45.96 @&
(C) 47.26 (&

Mm e
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61. In a relief camp of 550 men, food was 61. 550 =fFrad @3 qiel fifea 28 e &my
:nough for 28 days. If 150 more people joined the

Yt ere e | Tft e @i MRea wrae 150
;amp, the same amount of food will be enough for (73, ST 6% AR 4T B
(A) 25 days §<0 (A) 25
(B) 10 days 3(00 v\\ ) 1
(C) 35 days

(D) 22 days - )’% g/ﬁ/ © ;ﬂ—»{

62. What should come in place of ‘?” mark in 62. TnfRe wwa Fifares o forza (2) ZE
the given number series? IAE?
1,8,9, 64, 25,9, 49 1,579, 64.25.% 49
(A) 40 (A) 40
(B) 216 , | (B) 216
©) 36 L1736
(D) 99 | (D) 99
63. Find the odd one out: 63. ﬁﬁ%ﬂ@ Aefera g ST @It 2
(A) Japan (A) il
(B) Sri Lanka B) STl
(C) India (€) SR

(D) New Zealand D) AER

64. Five girls M,N,0,P and Q are standing in 64. 46 @ M,N,0,P ¢k Q FfameiE
row. Pis on the right of Q. N is on the left of Q, but

Wfb@ =Tz | P, Q ua B | N, Q@ I e g
is on the right of M. P is on the left of O. Who is ' wﬁ@; . e o
standing on the extreme right ? E. i T WJ s ?ﬂ?{gﬁ@s 3
@A) 0 T FNAE 2 (@ T W= 2
5 @n 7

s L B
© N /ﬂ B) Q
(D) P .0 QQ C) N

. \ (D) P
65. If ‘A’ means ‘+’, ‘B’ means ‘’, ‘C’ ‘A 4o 'R° =, 0
"X’ and ‘D’ means “+’then what will be(t:hen\l:::: e AT ﬁ'ﬁﬁv{fi{@ﬂa S
of following expression ? - A a, D, S i
8D2A6C3BS 25 AL
) 25 Q}Q)(cg)k 8D2A6C3BS5
®n T o€ ®) 25
©) 30 AT S s (B) 10
D) 17 — Y

- e
— ¥ 17
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66. What should come in the place of question
mark (?) in the following number series ?

9,20, 33, 48, 7, 84, 105

(A) 68 &
B) 62 A%

© 72 \
\

(D) 65 Ac\g%(

(7

67. What does NATO stand for ?
(A) North American'Treaty Organisation
(B) New Atlantic Treaty Organisation
(C) North Atlantic Treaty Organisation
(D) New American Treaty Organisation

68. The ‘Dronacharya Award’ is given to
(A) Sports Editors
(B) Umpires
(C) Coaches
(D) Sportspersons

69. The Matatila .Hydel Project is on which
river ?
(A) Koyna in Maharashtra
(B) Tapti in Gujarat
(C) Betwa in Uttar Pradesh
(D) Mahanadi in Odisha

70. What should be the student- teacher rati.o at
the upper primary level in schools under the Right

to Education (RTE) Act ?
(A) 251
(B) 45:1
©) 15:1
@D 35:1
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66. R 793 Pt 24 oz (2)-9a ey
J SPICI?
9,20, 33, 48, 2, 84, 105
(A) 68
(B) 62

©) 72
Jm/.“

67. TG (NATO)'S =94 ieifo 2
JA) North American Treaty Organisation
(B) New Atlantic Treaty Organisation
(C) North Atlantic Treaty Organisation
(D) New American Treaty Organisation

68. ‘IIBR STFHT (ST ZW
(A) T Tl
(B) AT t
(C) affrsama
(D) FreiRwom

69. Weifeet Tfge awa @ T Goix
SRS ?

(A) TRRAMEGA F71 Tl

(B) wTralGa wifes

(C) TeAYMrIR @Tor At
(D) efexia =t

70. FrFmiEeR (SRbR) Sz SR fe
T a2l wea M- weeite Fasn e

(A) 25:1 _ . ¢o
(B) 45:1
©) 15;1
(D) 35:1
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71. Gita Gopinath is the first woman chief
economist to be appointed to which international

organization?

(A) Asian Infrastructure Investment Bank
(B) World Bank

(C) Asian Development Bank

(D) International Monetary Fund

72. ‘Lilavati’ was written by
(A) Hemchandra Acharya
(B) Mahaviracharya
(C) Bhaskaracharya
(D) Kalkaacharya

73. The sun gets its energy from which of the
following ?
(A) Nuclear Fission
(B) Photoelectric effect
(C) Chemical Reaction
(D) Nuclear Fusion

74. ‘Athelete’s foot’, is a disease caused by
(A) Fungi
(B) Protozoa
(C) Bacteria
(D) Nematode

75. The velocity of sound in air (under normal
ondition) is

(A) 332 m/sec
(B) 3320 m/sec
(C) 30 m/sec
(D) 3200 m/sec

RBSI(P)/19

71. At (NI @ EEiies AEE FTE
267 A% TRe eyt SLAIfeRm 2
C(A) G SRt fafRTael kS
(B) s
(C) affE Sz RS
(D) SwEfee ut O

72. ‘Aol iR
(A) TF S
(B) T
(C) orEamE
(D) TR

73. 74 w7 @A (A =S e IR 2
(A) FefFam fem

(B) (FIGRETET doq
(C) rEfas R
«0) e Rrew

74. R 6 @l T i 7 —
(A) =aIF
(B) =i
(C) iz
(D) ftere

75. S *trd @9t (Rl sege) —
“A) 332 [/
(B) 3320 f3/@.-
(©) 30T/
(D) 3200 f/.
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76. The working of a Rocket is based on the
principle of
(A) Kepler's Law
(B) Pascal’s Law
(C) Boyle’s Law
(D) Newton’s Law

¢ if A W}.xich one of the elements is least likely to
be found in commercial fertilizers ?

(A) Phosphorus
(B) Silicon
(C) Nitrogen
(D) Potassium

78. Which of the following has the highest
density?

(A) Coke

(B) Graphite
(C) Charcoal
(D) Diamond

79. The Stock Market Index of London Stock
Market is referred as

(A) Brent
(B) Sensex
(C) Footsie (FTSE)
(D) NIFTY

80. A certain industrial loom weaves
0.128 meters of cloth every second. Approximately
how many seconds will it take for the ls}(zn to

weave 25 meters of cloth? WO
%V/w

(A) 200

(B) 195
2 B

Recruitmentindia.in

(18)

76. AFHA G (@ Ao Tofx fofe a3
(A) @EIEE 3 f
(B) AMBITA >
(C) ST 7 Fil
D) fe6eT @

77. g Aelce fsERe @F e

QAP TSI HIBT 3 2 {
(A) THTIPT ?os’
(B) fiferew
(C) TG
(D) =ity
78. TG AT G797 HABE @2 Rst_;
A) == per
(B) arrizp pric
(©) wiswman RS
AD) e
79. TG BT AGEH B¢ MBS P55 MR - o
S A rect:
(A) &% of th
B) GG is th
(C) Fo1 (awlbeniz) -
(D) =l
/

»
. 85
ﬁwwaﬁmﬂ@ﬁ@ﬁ%m

@I | 25 FBR ol I Sie TqHT TS GG 265
A TN 2 ' Wha

(A) 200
(B) 195
(©) 170
(D) 220

LA \0’5(
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81. Inanelectionbetween two candidates, 75%
of the voters cast their votes, out of which 02% of
the votes were declared invalid. A candidate got
9261 votes which were 75% of the total valid vote.
Find the total number of voters.

(A) 15800
(B) 16800
(C) 15700
(D) 16700

82. A sum of money doubles itself in 4 years at
asimple interest. Inhow many years will it amount

to 8 times of itself ? \o,g
(A) 12 years M -
(B) 28 years 9—0/ "lj\ > ©
s 3\
(C) 8 years (L(/-)b %/7},
(D) 24 years (

83. A man purchased 35 kg of rice at the rate of
Rs. 9.50 per kg and 30 kg at the rate of Rs. 10.50
perkg. He mixed the two. Approximately, at what
price (in Rs.) per kg should he sell the mixture to
make 35% profit in the transaction ?

(A) 1250 \po Ar
(B) 13.50

©) 12

(D) 13

84. The ratio of the length and the breadth of a
rectangular plot is 6:5 respectively, if the breadth
of the plot is 34 meters less than the length, what
is the perimeter of the rectangular plot ?

(A) 408 meters

<

(B) 814 meters K 40

(C) 374 meters y ¢\' |

(D) 748 meters _ 97$} AKQ/
=

85. Inan examinati

of on it is required to get 40%

© aggregate marks to pass. A student gets
n!arks and is declared failed by 55 marks
atis the total marks in the said examination ‘7'
(A) 750 \
(B) 550 2
(©) 800 * ;
D) 650 0°
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81. it 2idf g @3 e, 75% coibra
I (Si6 WEEs, T T4 02% (Si6 Stay e
T3l ZfeE | ae A1 9261 6 (16 Coitates a1 Giie
T34 (oI5a 75% et | (G cofbr Akt fefa |

(A) 15800
(B) 16800
(C) 15700
(D) 16700

82. T Afaanel SETee 1= 07 4 = g = |
T© IR O M- 8 e A2

(A) 123=7

\@mﬁm

(C) 89=d

(D) 24 3=

83. e 1T 9.50 BIA (R Weal 35 ol B
G2 10.50 56! S wea 30 et wiet R | Foft
72 bie fifdre wtaces | @3 fifdrs o1 affs @l

AR Fo It (1) e wacet o i © o7 35%
GICEGE:

(A) 12.50
(B) 13.50
©) 12
(D) 13

84. <G WITORPR 2T 7L @ 2ATFR Weeite
6:51 3 &% TTiw we 34 -Riv T =, W@
(A) 408 fiorm
(B) 814 5w

| (C) 374 T

\ BT 748 fib

85. AR SR Rea & AP TR 40%
Wmmlawmzﬁsmcmmssm

gmmwwq@cfm@@ﬁwmm
?

(A) 750
(B) 550
\A4ET7800

(D) 650
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86. Ifthe new numeratorofafractionisincreased
by 200% and the denominator of the fraction is

increased by 150%, the resultant fraction is 39—5

What is the original fraction ?
(A) 3/14
(B) 2/15
©) 3/16
(D) 3/10

87. If 72 x 96 = 6927, 58 x 87 = 7885, then
79%x86 =7

T
(A) 7689
(B) 6897 3\?% 4&;
&
(©) 8976 W @/
(D) 6978

88. Coffee : Caffeine :: Tobacco : ?
- (A) Nicotine
(B) Tanin
(C) Alexine
(D) Novocaine

89. Complete the given letter series in the
following:

a__ab _baa_bb _
(A) aabb
(B) baba
(C) abab
(D) bbaa

90. X is the east of Y which is in the north of Z.
If Pis in the east of Z, then in which direction of X,
is P? .

(A) South-West
(B) West
(C) South-East
(D) South

s, P
\ %
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86. I I SARTIR T 200% I T =W @y
= 150% & I =, OIgE TG S

%Iﬁ?@@ﬁ]‘(“iﬁﬂ?

(A) 3/14
(B) 2/15
(C) 3/16
(D) 3/10

I
87. 3 72 x 96 = 6927, 58 x 87 = 7885, ©IA
79%x86= -
(A) 7689
BT 6897
(C) 8976
(D) 6978

891

88. Coffee : Caffeine :: Tobacco : ?
(A) Nicotine

B) Tanin. . 2
(C) Alexine ' I‘;

(D) Novocaine

89. fAxfiRe Fiftefd o = ¢
a_%Aabb baaxbb b
(A) aabb
(B) baba

&) abab

(D) bbaa

90. I ‘X', ‘Y- 9q qESR_Fe 7, Y, 7'~
TR sRfFe =, ‘P, ‘2’93 7 wfEe =3, $ip
P, X7 (FAME TS ?

. (A) wiEe-oifew
(B) “Afow
(C) W=

APy
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91. Vivek and Ashok start from a fixed point.
Vivek moves 3 km north and turns right and then
covers4 km. Ashok moves 5 km west and turns right
and walks 3 km. Now how far are they apart ?

(A) 9kin

(B) 6km M_IL
(©) 10km —J

(D) 8km

92. Select the missing number from the given
responses:

7 3 2
4 9 6
2 1 5
69 | 91 ? :
(A) 58
(B) 65
(©) 51
(D) 64

93. In a certain code language ‘T’ is written as
20, ‘TAX’ is written as 20124 and ‘XERO’ is
written as 2451815. How would the word ‘BABY’
be written in that code language ?

(A) 21224 ® Q;
(B) Cannot be determined k- 0
(C) 21225 Z,ry(
(D) 21220
P
94. Choose the odd one : ¢ © £
(A) JKL M;;i T 6‘)@3}
Q Q&
(B) TUV NG P 1
(C) CDE WY E
(D) PQS

' 95. Allof the following noble gases are present
in the atmosphere, except

(A) Helium
(B) Xenon
(C) Argon
(D) Radon
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91. Ree 9 s @l e R cores Ty
w7 304 | R 3 ol Barm ewr w49 wifiie g
w8 4R T 1S «iffow fies 5 Rfi e st
G 0 ARG 3 [ T | 93 w1t weh! vz 2

chﬂﬁsﬁ:

(B) 6 ff
(©) 10w
(D) 8 ff
92. 2a afSferanesf (A oreifze it Ao
JIEA
7 3 | 2 ’L
4 9 6 =
2%
2 1 s|.~<
69 91 ? L
(A) 58
65
©) 51
(D) 64

93, ¢ S @IC eI ‘T’ & 20 BN @A
=, ‘TAX’ & 20124 9% ‘XERO’ 2451815 &7
11 2 OIZE ‘BABY” *%(0 (I (@IS @1 A2

(A) 21224
(B) sfarefa
e 21225

(D) 21220

94. FsfReslm Ty @b wwm 2
(A) JKL
(B) TUV
(C) CDE

LB PQS

95. fsfeie @re sl g @l armes
SIS G125

(A) Rferm

(B) (&=

(C) efq
D) @oH
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96. Track and field star Carl Lewis won how
many gold medals at the 1984 Olympic Games ?
(A) Three
(B) Eight
(©) Two
(D) Four

97. Whichofthe following is not the function of
Reserve Bank of India (RBI) ?

(A) Banker to Government
(B) Issue of Bank Notes
(C) ABank Mobilizing Deposits

(D) Custodian of Cash Reserves of
Commercial Banks

98. Black cotton soils are also known as
(A) Bhangar
(B) Regur
(C) Bhabar
(D) Khadar

99. In which Rock Edict is Ashoka named in
person and not by his usual title ‘Devanampiya’?

(A) Mahasthan
(B) Taxila
(C) Bahapur
(D) Maski

100. Which of the following is not a particle?
(A) Beta
(B) Gamma
(C) Alpha
(D) Delta
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96. WiT 93 R wrea
Ao (o I Feforras il
(A) fom
(B) =G
© R
(D) o=

Gyl 1984 3y,

97. Awa @B RS 15 (o, 7, 3.3
I T2

(A) TII INE TP

(B) & A6 T T4

(C) ARV AT IS Az -

(D) fifErs Tiafmaem e o

98. I o7 Nfox o=y Asfre A 2=
(A) ©req
AB) @e3
(C) ©R™
(D) A=

99. @M Mefefice s 9w T TR
JfEoeId e Tty ‘o i w2

(A) TBH

(B) wwM&l
(C) IR7F
(D) W&

100. FsfeRoulR g @R 0 12
(A) for
(B) eI
(C) ST
&) @B

Scanned by CamScanner



